
Huidige lessentabel Havo en Vwo

H4 H5 TOTAAL L4 L5 L6 TOTAAL

ak 3 3 6 2 3 3 8

gd 2 2 4 2 2 2 5

lo 2 1 3 2 2 1 5

mr 1 1 2 1 1 1 3

ckv 2 2 2 2

IBC 7 7 14

biol 3 4 7 3 3 3 9

dutl 3 4 7 3 3 3 9

econ 3 4 7 3 3 3 9

entl 4 3 7 3 3 2 8

EnVTO 4 3 2 9

fatl 4 4 8 3 3 3 9

ges 3 3 6 3 3 3 9

kubv 3 4 6 3 3 3 9

kumu 3 4 6 3 3 3 9

m&o 3 3 6 2 2 3 7

maat 2 2 2 2

nat 3 4 7 3 3 3 9

netl 4 2,5 6,5 3 3 2,5 8,5

nlt 3 3 6 2 3 3 8

rms 2 2 4 2 2 2 6

schk 3 3 6 3 3 3 9

wisA 3 3 6 3 3 3 9

wisB 3 4 7 3 4 4 11

wisC 3 3 3 9

gtc 4 4 4 12

gemeenschappelijk KCV 1 *Gtc en Ltc samen 1 cultuur‐uur

ltc 4 4 4 12

se 3 3 3 9

Rekenen 0,5 0,5


